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i 8.1. XD 1 XABRZREWZESL LIEEZHWTRT, o, bi3TEHL T35,
FE: a, b DEICE > TRIFEHAEBEZ S DI L D DT, BEDITFTLTER X,

r+2y+3z2=a x+4dy+3z2=1 r+ y+az=1
(1) 22 + 3y + 5z = 2a — 1 (2) 2 + 9y + T2 =3 (3) r4+ay+ z=1
3z +ay + 82 =2a+4 ay + 2z =195 ax + y+ z=1

f 8.2. XML % £ FRIRMEZ KD, KICFRMHFRFRARGERO &z KD 2 Z 2T, TTOH LD WIS
Ziilz SHEZ KD X (cf . MIPREE: BRE HIE 5.4), 7272 a,b,c BRRDERKE T 5,

1) @pi1 — =2n+1, x1=1, ¥Rz, =an+0b.
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(2) Tpy1 +2x, =30 —4n, =1, FFKE 2, =an’+bn+ec

(3) Zpgo —3Tpy1 +22, =2n+1, z =1 20=1 KRz, = an® + bn.
(4)

Tpyo —4Tpi1 +éx,=n, x1=1,20=2, ¥HKE x, =an+b.

P 8.3. KOFTH A 1T LT [A E] DFTHRALI 2 HIWT A SERIDE DR, EAIZS & IZHAT51% KD &,
1 -1 0 2 1 2 0 1
bz - 3 —2 5 1 3 7 -1 6
Dl-1 1 2 2 B 3 B
L . ()0 2 9 _8 (>—2 4 1 -3
0 —1 —4 4 4 9 -1 8
12 -1 2 110 1 —2 -3 4
2 1 -1 2 0 1 1 1 3 4 6
(4) (5) (6)
2 2 -1 1 1 110 4 6 -6 -9
11 -1 1 1 01 1 6 8 -9 —12

B 8.4. RDITHI| A ZEAITHIDOME L LTHRE,
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1 2 3 4 5 1 2 3 4 5 1 2 3 4 5 6
5 8.5. o1 = , 09 = , T = 35,
3 4 2 5 1 5 4 1 2 3 34 6 2 5 1

(1) o1 & 09 ZZNZRHBOETEL, ZDIFS sgn(oy), sgn(og) R &, F72, 012 ZRD X,
(2) r R EMOMTELZDME sen(r) BRD X, T, 0109, 7 ZRD Xo
(3) o1p =09 BATEER p ZRD X,

1 2 - n-1
fS 8.6. sgn< " ") = (1) THE L ERE,
n n—1 --- 2 1
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